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2 Xtel K& 3,520,354 1,694,765 1,825,589
= 610,473 302, 351 308, 122
Fas 621,126 478,001 143,125
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= 0 141,750 A 141,750
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= 800 700 100
MEHE SAX MEIE X2 9,500 14,724 A5, 224
= 4,750 7,362 A2,612
< 950 2,209 A 1,259
= 3,800 5,153 A 1,353
101 1Al 9,500 14,724 N5,224
= 4,750 7,362 22,612
< 950 2,209 A 1,259
= 3,800 5,153 A 1,353
03 RIAHAZ 2T E += 9,500 14,724 Nb,224
o MHE ZSALA QHEIE X2 (6Y)
2 & 9,500,000& 9,500 14,724 Nb,224
= 4,750 7,362 A2,612
< 950 2,209 21,259
s 3,800 5,153 A 1,353
Heas(dHnsy) 306,100 4,610 301,490
SHEXNE 306,100 4,610 301,490
EXdRE 306,100 4,610 301,490
802 gHE = DI EF 306,100 4,610 301,490
01 I DEXSHE= 306,100 4,610 301,490
© 20198 =ZEE WELLAG(HAEY)2S
300,000,000& 300,000 0 300,000
o 20199 ==8 WSILEANL(HAH)2Y (0]
xH) 1,489,190 1,490 0 1,490
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